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FALSE – Unsolvable problems 

exist, regardless of the computer!
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Mathematical Model

Let’s use our mathematical model 
of a road network to answer some 
questions.
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2+2+3+3+3+2+2+1 = 18, which is even. 
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Mathematical Model

Each intersection requires a camera to 
monitor each road segment.

Can we build a road network so that the 
number of cameras we need is odd?

Each road (edge) adds two to the 
number of required cameras. So, if the 
road network (graph) has 𝑟 roads 
(edges), the number of required 
cameras is 2𝑟, which is even.

NO!
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Step 1: Consider 
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Step 2: Build 
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model of  a 
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limitations of computers.
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